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ETeeh W qielr

1st Stage (Computer Based Test)

Held on : 17.01.2017 Shift : 1

1. Each exterior angle of a regular polygon
measures 9°. How many sides does the polygon
have?

T AHEgYS & s aresnr 9 ;oA

HHEEYS i fehat T 872

(a) 30 (b) 40

(c) 45 (d) 36
Ans : (b)ﬂﬂﬁgg@raﬁrqﬁ}%m:ﬂ

n

et n TGS S H @A 2
360°
===

360° o
n= % =40 s

3T; THIEYS & e B H@AN n=40 7|

2. Which of the following is equivalent to 0.56 2
(the bar indicates repeating decimal)

frrfafaa & & &9 91 0.56 & qo &2 (‘=

3 9°

IS YA R TSI *Har §)
56 56
a) — b) ———
@) 100 ®) 1000
56 560
c) — d —
(c) 9 (d) %
Ans : (c) 0.%:O+§
99
056=°
99
3. Complete the analogy
HHET T YUt it
3:11::7
(@ 29 (b) 18
(c) 24 (d) 51

Ans: (d)SE IFR 32 +2=9+2=11

T FRR x=7"+2=49+2
4. Which is the correct ascending order of the

given number?

=& T HEEet T WEt STHIEr hW ShI—HT 7

1 4 1 4
a) —,—,033 b) —,0.33,—
@ 3715 ®) 3 15
4 1 4 1
c) —,033,— d 033,—,—
© 15 3 @ 15°3

4

Ans: (¢) é = 0'333’E =0.266 30.33
= 0.266<0.33<0.333
= i <0.33< l

5 3

37 Gl S W%,O.%,%ﬁ"’ﬂl

Study the following table carefully and answer
the question given below:

fr=ifera OWUft &1 eaMYd® TEEER N

3R o fer woat & 3w i
YEAR | TYPEI | TYPE | TYPE | TYPE | TYPE
1 T v v
2000 | 26 64 232 153 340
2001 45 60 242 172 336
2002 72 79 243 210 404
2003 8l 93 280 241 411
2004 107 112 266 235 442
TOTAL | 331 40s 126s | 1011 | 1933
5. If the same percentage increase in the sales of

Type I vehicles in 2004 over 2003 is expected in
2005, approximately how many Type I vehicles
will be sold in 2005?

afg 2003, 2004 ¥ [ YR o ATEAT bl Torsha |
| gfae gfeg g2 & ar 2005 ® S1gHE

AT ST ke ¢ fF T 2005 § feha I-

ek o g1 et forent et SITaefi?

(a) 141 (b) 139

(c) 144 (d) 131
Ans : (a) AT 2005 H 1-¥&R & x a4 foa gu
TR,
2003-2004 ¥ % 3fs = 2004-2005 H % Jfs
10781 00 x=107 0o

81
107 x 107 — 81 x 107 = 81x — 81x 107
81x =107 x 107
107107
X=——
81
x=141.34

3gar x =141 9=_




6. The number of Type I vehicles sold in 2003 was
approximately what percentage of the total
number of vehicles sold in 2002?

2003 ¥ fasrar 9 97 I- YRR o aTel ot
HEAT T 2002 W fasRa g9 oot et &
A GEAT T AT FlergTa &1 ?
(a) 8 (®) 9
() 10 (d 11
Ans : (a) 2002 H f4sha ot aTel sl HeA
= 72 (Type-I) + 79 (Type-1I) + 248 (Type-LII)+ 210
(Type-1V) + 404 (Type-V)
=1013dr=_T
@ 2003 # faha 89 a1 [-9HR & aeHl 1 Jfoer
%=—81 x100
1013
=8%
7. In which of the following years was the Sales of
Type II vehicles approximately 25% of the
Type V vehicles?

freafafiaa & | forg o6 # [1-UehR o am@=t ot

TreRa ST V_UehT & & T 25% 2l
(a) 2000 (b) 2002
(c) 2004 (d) 2003

64

Ans: (c) 2000 # II—W%=%x100=18.82%
2001 § 1I- ¥R %:ﬂx100=17.85%

336
2002 § 11— ¥R %:47—094><IOO:19.55%

2003 - ¥6R % =%>< 100 =22.63%

2004 H wa%:%xmo:%%%

& 2004 H [I- FHR & AT Hl [5a V-JHR & et
1 ST 25% &
8. The percentage increase in sales in 2003 over

the previous year was maximum for which
Type of vehicles.

fuger od & ger § 2003 =t fasht ¥ wlew
gfeg for YR o ame-l o fog stftreram offy
(a) Typell (b) Typel
(c) Typelll (d) TypeV
Ans : (a) 3 @ & qa § 2003 ¥ @Al & o
sfaer afg e 21

- YR & aeHl 1 % e =

81-72

x100=11%

I R & argt & %Tﬁz%xmzls%

280—248

11— ¥R & a'l'é':ﬁ $T % %=W

x100=13%

IV— &R & et w%ﬁ=%x100;13%
V- ¥R & aeHt w%q@:%xwo;z%
I 1I-9HR & ael @ fasht 2003 F 39 et af &
qa § srferhan 21
9. Optical fiber works on the principle of -
WeRTrTeh o Terd faegTe W whrel ahte §7
(a) Diffusion/ferson
(b) Total Intermal Reﬂection/‘iﬂf A=Re JEd
(c) Scattering/ﬂ@'ﬂﬁ
(d) Refraction/3T9ad

Ans : (b) FRS FF & agd ol qd IqA gRI W G
T SR T U7 SR T W SERA Th Ty
IRE 2 19 SR ST Thdl S Th WM ¥ g e
T o ool &7 % TR AT ST 81 SEeh FAm
g R & ofaRe Wi &k uleror sfefq orgE
(Endoscope) # o ST 21

10. In October 2015, more than 350 landmarks in
more than 90 countries were lit blue, the

official colour of Question the United Nations.
What was the occasion?

e 2015 | 90 TN H 350 & 31fiUek yehtiva
T TIHN TeAT § HWYTh U WY i o
e oft?

(a) 70" Anniversary of United Nations/ﬁ'ﬂ?ﬁ RySA
#7041 =sTis

90" Anniversary of United Nations/H§gh T
90T s

50™ Anniversary of United Nations/Hgth T
& 508 e

60" Anniversary of United Nations/Hgth T
1 60dT amTis

Ans : (a) 9% T 9 R ¥ 2015 § 708 ais
THET T SE T 24 SRR 1945 H TH
T T & ®9 H gE 390 aqd # 193 I &=
g1 sifm wem Iw ol gEm 21 e weeRE
TR e 2

(b)

(c)

(d)

11. The volume (in cu. cm.) of a right circular

cylinder with radius 1 cm and height 2 cm is:

1 &ft B qar 2 wff g & ey

AT T AT (T A T ) B
(Taken=2j

7
@ 2 (b) 22
(© 44 @ X




Ans : (d) TEET T H AT = rth
~ 20y x2
22

=—x2

Bhadci s
7

Below are given statements followed by some
conclusions. You have to take the given
statements to be true even if they seem to be at
variance with the commonly known facts and
then decide which of the given conclusions
logically follow(s) from the given statements.
e feu & wew & IGER &P e fo ™
21 3R feu T U W B 9o € wher=:
G 89 W aLT & |y foee= wedta @ i
froer feram W fon fow 3 forepelt & @ wiF—T
THETA AR IeRET he o ITTAN §—
Statements/che:

Some kings are queens. All queens are beautiful
HB T it g1 vl vttt g g
Conclusions /f-TshY :

I: All kings are beautiful/a+ft Tr=m W%I

I1 : All queens are kingsf{:r‘lﬁ Tt = %I

(a)

12.

Only Conclusion II follows

eyt Ferse-IT formrgan 2
Neither Conclusion I nor II follows
T fased 1 a1 e 2
Only Conclusion I follows

et forepe 1 Foremrgar 2|

Either Conclusion I or IT follows

a1 dr fased 121 11 fameer 2
(b)

(b)
(c)

(d)

Ans :

.,
;. H® T Gl & a1 FB A To0 & el o
HI % AR Wff T g R w ufed won A @
T |

13. If x stands for addition, =+ stands for
subtraction, + stands for multiplication and —
stands for division, thTn what is the value of
20x8+8-4+27?

Jfg I & fIT x e & fo + o & o +
AR AT T - A AT 20 x8+8 -4 +2 T

T = §?
(a) 24 (b) 1
() 20 (d o

Ans: (a) +— x
- —> +
x> +
+ -
TR, foe afafia F0 «
20+8-8+4x2

20+8—-2x%x2
20+8—4
20+4
24
14. The mean deviation of the data 3, 10, 10, 4, 7,
10, 5 is:
ATHRS 3, 10, 10, 4, 7, 10, 5 T WL o= &—
49 19
a) — b) —
(a) Z (b) Z
50 18
c) — d —
(c) Z (d) Z
Ans: (d) 3% 3, 10, 10,4, 7, 10, 5
T (Mean) = 3+10+10+74+7+10+5 :ﬂ
1&g (Mean) = 7
N M —Xi
A1e7 fa=reld (Mean deviation) Z%
i=l
73] +|7-10+]7-10]+|7 - 4| +]|7 -7 +|7-10] + |7 - 5|
N 7
_4+3+3+3+0+3+2
7
18
e ety ==
15. Pointing to a man in a photograph, Anitha
said, "His mothr's only daughter is my
mother." How is Anitha realated to that man?
THISI UTH W Ueh SA+h hl AT ¥ hegl, ' STehT
of @t g 4% |t € orfier @ s =fw @
AT e §?
(a) Aunt/=T= (b) Niece/#rsit
(c) Mother/At (d) Sister/sg4
Ans : (b)
i A
— Tfger
PO A @)
o
EEiGl]
;NG ¥ Wy 2 o, 39 = ) wdeh 2




16. The Environment (Protection) Act of India was

enacted in the year -

WA AT qierur (ETerur) Irfrfwaw fme ad

arie feRam = an?
(@) 1997 (b) 1986
(c) 2004 (d) 2012

Ans : (b) IR &1 gAtawor Geer stfufam 23 72 1986
H WRT fHAT T TR SR W, S, 9 3R gfF
e & GO g G # 9| TR g1 9 WG
Hfgur & gaadt g &1 famg 21

17.

Vishnu travelled equal distances at speeds of 10
km/hr., and 8km/hr., and took a total of 15.5
Question minutes to complete. Find the total
distence he travelled, in km.

fosy 10 fereft/mwer, 30 fwddft/ser oim 8
Tl /aer &t It W W gt 9 e
qen gl AT W HA 15.5 e oar @ 9@ Suk
BRI & TR A He gt (TRt ¥) v
EdiEy

(a) 1 (b) 3
(c) 4 (d 2
Ans : (b) T 9 T T x e <t S amm 3 7
TR,
5 GG
3) \3) . \3) 155
+ + =—=
10 30 8 60
x[l 1 1] 15.5
_) —— 4= |=—
3010 30 8) 60
3[24+8+30j_15.5
30 240 60
3(2)_15.5
3(240) 60
15.5%240x3
60x 62
186
X=—"
62
[x = 3] fht

18. In February 2016, which city topped the

'Swachh Survekshan-2016' ranking of 73 cities
in India with minimum open defecation and
extensive adoption of solid waste management
practices? . .

& wIEdt 2016 ® I I ARG H FAGH GA
T v 3R 319 el yeier STsATEl st S
Wil o A 9URA & 73 vEd ° fyuefiw
JTaTSEt 2016 H HOH HUT T

(a) Navi Mumbai/al T

(b) Mysore/ﬁ'{(

(c) Gangtok/TTEI%

(d) Vishakapatnam/fersmarda—q

Ans : (b) 2016 F WX I F ARG § =FGH g F
i R 3T HE Fo A B S WF b A
73 TE H TEe T W gaN St SR H Wad e
IR NS feam a2

19.

Ehsaan is twice as good a worker as Kamal and

together they finish a piece of work in 29 days.
In how many days will Kamal, working alone,
finish the work?

39T T Teh 3T%0 AIfteh i T8 &AA ¥ [T
HTd § qAT S AIA—WT Teh kA oy 29 fot
T U T 3| el SHAeT 30 YehT ot fehe
fo= & =om
(a) 58 (b) 70
(c) 87 (@ 116
Ans : (c)wwﬁm“rmﬁ@maﬁxﬁ?ﬁ
AT A B
TYAER,
u foT # I g fopar e @t

2 1
+_ R
x 29

29
x=29x3
[x=87|fe &

In 2015, a special semi-luxury train covering

Jaisalmer, Jodhpur & Jaipur was launched by
the IRCTC. What is the name of this train?

2015 W umw fawiw oref wofg I SHenn,

YR 3 FEQX § IRCTC NI 3TRH i Tt

off, 39 YeT T oI AT &2

(a) Rajasthan Darshan/TSTeT_ g9

(b) Rajasthan Queen/ISRAM Fa

(c) Desert Circuit/A&ede] gfthe

(d) Desert Queen/FEEIA FH
Ans : (c)ﬂmﬁﬁﬁﬁaﬁ@ﬁfﬂﬁﬁﬁ
RS gfhe am faar @1 39 @fhe Sgemr ik Sax
F RE FCH T el Wb AEE A OARORT
TR 3R S & S

21.

1
x
31
X

20.

Deksha borrowed Rs. 500 at 5% per annum
simple interest. What amount (in rupees) will
she pay to clear her debt after 4 years?

feegm 9 wfa o€ 5% WEURET S W 500 w0

IYR o1& a8 9”91t oie 31U @i i

IEE R R Caeuil
(a) 150 (b) 650
(c) 600 (d) 100




Ans : (c) THYEH = qaeH + AN = a8
+%WXRXW
100

500x5x4

100
=500+ 100
=600
o foam & 9R WA 9" U @i & 600 T
ufl
22.

=500+

How many Indian States and Union Territories
share the India coastline?

AR T TE R I wewr fRae ws
e ¥ g 87

(a) 9 States and 5 Union Terriories/9 U Td 5
E O G

12 States and 3 Union Territories/12 U9 Tg
3 %= WA =Y

7 States and 5 Union Territories/7 T TF 5
ET R G

5 States and 3 Union Territories/5 <9 TS 3

Hg I T
Ans : (a) RA § T A ¥ g Todl B GE@T 9 7
T 5 Hx WG T2 (SHF 9, IS TR gaell, AR
USHH TR 219 T8 I3 aMfe) 20 TF TE 2 &%
I SR T 2
23.

(b)

(c)

(d)

A water tank has two holes. The 1% hole alone
empties the tank in 9 minutes and 2" hole
alone empties the tank in 6 mintes. If water
leaks out at a constant rate, how many minutes
does it take if both the holes together empty the
tank?

Teh 9T 3k U o fog €1 et 1fdg S =1 9
firee ® @reft At ¥ 2T etehe 2fog 3% @t 6
fime # wrelt war €1 afe e R fem
T E Al Sl o WII—HTY T W e fiee
T 3% @eft Jer

3 3
(@ 35 (b) 3

1 2
(© 3 3 d 3 3

Ans: (2) 1 % 3% & — 9 fire & @rell & 81
2f%% 3% B —> 6 e | wrell Har 2l

W@ﬁﬂ?ﬁl%‘s{—)éﬂmé\‘%@ﬁm

ﬁ@WﬁZ%ﬁ—)%ﬂWﬁ@?ﬁWl

mﬁ:@fﬂﬂzﬁﬁ%‘s{—)(é+%)mé\‘$@vﬁﬁ|

2+3_5

18 18
3 %ms%ﬁ%ﬁaﬁ%‘s{@wﬁwéﬁﬁ
e w4 7
24,

The Mahabodhi Temple Complex, which is one
of the four holy sites related to the life of the
Lord Buddha, is located in -

TR Aftet Uehel, WA O & Gafid o

ufers Teret o 9 U fua -

(a) Bihar/fe8R

(b) Tamil Nadu/ﬁfﬁ?i’l’l'g

(c) Karnataka/&ies

(d) Delhi/f&eett
Ans : (a) WEEIY Afex T fagr # fem 21 9w
g dts enfifer o 81 36 H W wEn Maw 98 #
IA H MG gE A A oMt k= % faw fava
forea 1 ZHE S 39 W i favd eleR et S
fopar T 21

25. In 2004, NASA launched the Messenger
Spacecraft to study .

ad 2004 § NASA BT Faifu HER Sfareram

<Rl 3T —

(a) Saturm/3TH (b) Jupiter/ggeafd

(©) Pluto/@ (d) Mercury/9¥
Ans : (d) NASA SR 3 37T 2004 & HIR
(Messenger— Mercury Surface Space Environment Geo
Chemistry And Ranging) e 3dRel I H 99 I8 B
NI & AU AT M| AZ A B TS Yafed Sfer
T 21
26.

Mount St. Helens is an 'active stratovolcano'
located in

S A< TAT S0 Wishar saremget fere €2

(a) Japan/STq=

(b) India/9a

(¢) United States of America/Sgw® Tsa TR

(d) Chile/faet
Ans : (c) 9= g1 59 afRyol sredifed HREIR H foq
21 36 €9 W NI @SS 7 e W@ o1 gE
W 1821 § 3HH g & T A1 A off 3@ A
el & AL sl H @1 S Fehd &1 A Th SATAET A
2, S I 8 d% d8S T 3R 500 F 700 He
gl o d a1 @ a0uE | T8l i 4000 W e
H B




27. A woman invests Rs. 2000 at the start of each

year at 5% compound interest per annum.
How much will her investments be at the end of
the 2" year?

TS 3T Yeieh 98 o U WYX 200080 i o
5% oh Iehgieg ST oh o¥ U TE9T il 31 a8
TEX T o 3 | fere w0 frrarer st

(a) Rs.4305 (b) Rs. 430

(c) Rs.4355 (d) Rs. 4350

(a) 7B ¥ e gl = Rl g= + Grem

Ans :

IS

2000x5x1
100

=2000+

=2100 %0
TR T G AT = Rl o9 + wrERe @
4100x5x1

= (2100 +2000) +
100

= 4100 + 205
= 4305
3 W a9 F o1 § T 4305 F0 F1A9T FHA B

28.

Deepak introduces Raju saying, "He is the

husband of the father of my father." How is
Raju related to Deepak?

ueh T UReE HUd g3 TS H &l Cag W

forn & foar =it gEEt & ufe @1 9 @ duew 9

HET Hee § ?

(a) Son-in-law

(¢) Son
Ans: (¥)

(b) Brother-in-law
(d) Brother

T B
for & fomm
IRE T Wy 2 % U9, Ik i wdisT 2

29.

A tank, filled partially with a liquid, is subject

to a uniform horizontal acceleration. Which of
the following is true for the surface of liquid in
the tank?

T & @ T 99F Sfa ©R0 ¥ T 5
ifyteR w0 A W@ T B fefefaa @ @ ww
¥F § ga I Tag * I HIT—HT HAT T 3?
(a) The liquid surface falls down on the direction

of motion and rises up on the back side of the

tank/58 1 T T S fawm F frar @ 3k
3% & 08 &I AN 31 71

(b) Te liquid surface falls down only at the
center of the tank/gd & T shad 2% % =

R fiRar 21
The surface of the liquid remains

horizontal/58 & Fag &fest T frad 21

The liquid surface rises up on the direction of
motion and falls down on the back side of the

tank/58 F g T fRew 3341 @ ik I
F 0 FH 3 e 2

(c)

(d)

Ans :

3 59 1 Tg M i fxem & A @ o 3 F G A
ﬁ@m%l@ﬁﬁmww(meudoforce)
% HROT BT 2

30. Find the fourth proportional to 2, 3, 6

2, 3, 6 T ST THTIUTAT &)

(@ 9 (b) 10

(c) 7 (d) 8
Ans : (a) T =T FEEAR x 8|

1
2:3:26:x%
3Ix6=2x%xx
x=9

31. If A denotes <, B denotes x, C denotes + and D

— denotes, then which of the following
statements is true?

afg A giad & 8 +, B gfaa &t € x , C
gfoa wtar § +, iR D gfua &t € — a9
frafafaa se a1 wew o 87

38

(2) 11B34A17D 8A 3=

(b) 6B18D 26A 13C7 :%

(c) 32C8A 16D4= 7%

(d) 9C9A9DIBY= 71

Ans: (d)A > (), B> (x),C— (+) 3D > ()
9C 9A 9D 9B9
9+9+:9-9x9
9+1-9x9
10 - 81
~71




32. Mr. Murthy invested Rs. 16,000 in a scheme.

How much will he get on maturity, if he
invested it at 20% per annum compound
interest for 9 months, compounded quarterly?

o wreff wer ST ® %0 16000 et femam a8
TR @ W fRa=T 9= are s afe 98 39
9 Ui o foTu wferard 20% =rshgfeg 3T &t X
T feram

(a) Rs. 18,523
(¢) Rs. 18,524

(b) Rs. 18,521
(d) Rs. 18,522

Ans : (d) fomrdt Tsrgfs &9 X :%%:5%

3

fi0 weff & T B W W o :16000[1+%}

= 16000(£j3

20
16000x21x21x21

T 20x20%x20

= 18522%0
The cash difference between the selling price of

an article at a profit of 4% and 6% is Rs. 3.
The ratio of two selling prices is:

T a6 I 4% AR 6% o9 W famwmg &= 9
TeRdl 3= 3 %. ¥ S Tk Wt aht ST
i

(a) 51:53
(c) 52:53

33.

(b) 55:53
(d) 54:53

Ans: (c) (fa1q.), = %4, (101%;4j ......... (1)

_ 100+ 6 ..
(fa.q.), = %1 ( 00 j ......... (ii)
FHO(1)/FHI0(ii)

100+4
(fa.q.), _55']1’( 100 j_ﬁ

(), 55.1(10&;6) 106
(), _s2
f@g), 53

34. Find the HCF of 3341 and 3328.

3341 31T 3328 T WOHOTO T Hil—
(a) 257 (b) 337

() 13 (d 31

Ans: (c) 3341 =13 x 257
3328=2x2x2x2x2x2%x2x2x13

31: 3341 3R 3328 & HOHOWO ‘13’ 71

35. Mr. Kiran sold a bus for Rs. 18,700 at a loss of

15%. At what prices should the bus be sold to

get a profit of 15%?

10 feRTT 15% <At Bif=T WX 60 18700 o T weh

o9 Sem fera= o o= WU TR 15% Ty

-

(a) Rs. 25,523

(¢) Rs.25,330
Ans: (*) 99 &1 %I I

_18700x100

85
=%22000

22,000x115
forsar e
K 100

=325300

Which Schedule of the Constitution of India
lists the States and Union Territories of India?

TRA o T Td U I Y9Il okt e &

fora gt o Soore @72

(a) First Schedule/S%# &=

(b) Second Schedule/ga{l g

(c) Thrid Schedule/dradl ST{g=i

(d) Fourth Schedule/=teff STg=t
Ans : (a)W%W@WWWWWW
T % Yom SEE § 21 39 STy # adue § 29

(b) Rs.25,522
(d) Rs. 25,521

36.

T T 7 F5 WG TR A ey 2

37. Who among the following is the current
Lokayukta of Delhi?
AU U faoell o W S §7
(a) Justice Manmohan Sarin/zl'l'al'{ﬁ AR T

(b)
(©)
(d)

Justice Reva Khetrapal /=i a1 @Farat
Justice Mohd. Shamim/==fd A= wnfie
Justice Rajendra Nath Aggarwal/zﬂ?il'{ﬁQ
Tl A1 AT

Ans : (b) AHIA ABH fadas dArbas § 27 fagwmr
2011 & Rd & IH 21 39 fa¥Es F qRa & 99 g
FE W W ARG H FGRE F R T TR W
A # e Bl wRa # wdwew S B e
TERrE # 9 1971 § g8 3R 1975 § 3050 F 6 M
3T T ° dew # e e, S aEed &
T T SR faver % % g #§ o I wmet
T ToAUS BT | I el B b 6 T §
TR TR T W o )

38.

In a Windows-based computer, two files cannot
be in the same folder if

T TS smenfia wvepes ® o wigell U &
TSt § T & Hehell €, Afg —

10



(a) they have different names, but same creation
date/3TH T8 § 1= @, AT T e @
they have different names, but are of same
file type/STH W H =R @, ofhd THM
HE B

they have the same name, and are of the same
file type/3T8 TM # HIE 3= 7 & 3N B
T off TAM &

they have the same name, but are of different
file type/3TH T AW @, AT BEA H
TH 7 2

Ans : (c) T% fiSIe omeanfid FrepeX & @ wRdd & &
et § T & gk &, AR AW guA & iR wrd §
T 811 Hioed a1 St v W e diueset 3ik
HIeel & YT P Hel S &1 TH BeSt F I TF Al
3GY S e A1 wieed B 81 S Al o & an
2 2

39.

(b)

(c)

(d)

A mobile plan costs Rs. 32 for 6 minutes. What

is the approximate cost, in rupees, for 4
minutes?

Teh WSS sl ShiAa 6 fiee & forg 32 %0 &
4 fime & fam @ fRas 0 ® o 872
(a) 21.30 (b) 21.40
(c) 21.20 (d) 21.50

Ans: (a) - 6 oM & foU Aiemger & FHT = 32 %0

ﬁlﬁw%mmaﬁﬁﬂﬁ:%m

- 4 e & fou AeEa ) SiEd :%X4FO

:%E 21.30%0

40. The Gandhara art — a style of Buddhist visual

art that developed between 1* century BCE
and the 7™ century CE, flourished largely
duringthe _ dynasty.
TYR el Teh difg 9 whetl Jreft Rrdenr
ferenmar worm vraTeEt | S, @ 7 vraTedt S
H MU iR W........ 50 AU | Y5 g3
(a) Kushan/gumoT (b) Gupta/Tad
(c) Pallava/Teeta (d) Maurya/d3
Ans : (a)ﬁﬁfmwﬁaﬁaréﬁé@ﬁﬁwﬁaﬁq
FUOT 4 I we TR g AWE Sifd § dd" w@d 9
FHT FY FH FIY TEH UES Hh o471 TUR qfd FHern
Srett o1 ATt S T % e § ga|
e d B HEUS S0 HiE 9Tl aeena § ugel
T NS IS JOH A1 e TSRS s 3y
YR FT | Toard Sy F- SfRI0T IRA &1 TSE 91 I8
UM S R 6 ool 399 WAkl & A ga o
TR AT 57580 H 89780 vmEA foa|

41. Compute:
TUET Hi—
1112 +139-5
557
a) — b) -3
(a) &7 (b)
556
c) — d 3
(c) &7 (d)
Ans: (d) 1112 + 139 — 51 4F
8-5
=3
42. A question and two statements labeled (I), (IT)
are given. You have to decide which
statement(s) is/are sufficient to answer the
question.

Teh W9 3R & (1) 311 (1) A1k e fodr &
g1 eueRt g fger T BT R e @ 3w
| & fou = - wHu vatE §?

Gowtham ranks eighteenth in a class. What is
his rank from the last?

T Uk hell § SToNEd T W §) 3 &
IRl Yok T &2

I. There are 47 ranks 10" in the calss/eR&IT o 47
Teremeff 21

IL. Jegan who ranks 10" in the same class,

ranks 38" from the last/SFTT ST Uek & el |
109 ¥ WX § 9% 3 | 389 W El

(a) Statement I alone is sufficient/3Tehel -1
e 2|

Both the statements together are needed/aHt
B B GG SAEYIHA 3 |

Statement 11 alone is sufficient/3Thel HI-11
e 2|

Either I or II alone is sufficient/aT @ HYa-1
1 11 gafe 2|

Ans: (d) | T T & fomnelf 47 §1 39 *en & Mew &
1831 T @1 A 31 | A" H W =47 — 17 = 308

I ST ST U & el H 109 WM R g 98 o1 ¥ 389
W21 a9 SO Hen § e 189 WM W @ o 4
I I (IF) = (38+10) — 18

=30 af &=

T HI 1 T HIA-11 H T I T g 2|

43,

(b)

(©)

(d)

3 men dig a hole in 10 days. How many days
would it take for 5 men to dig the same hole?

3 =t s g 10 g o @ea 81 5 =t

W Fox wed % RoTe e R o
(@) ? b) 7
() 5 d 6
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Ans: (d) ¥ ¥, M,D, =M,D,
3x10=5xD,
3x10
2= 5
D2 =6 fa—'—‘f ﬁ
In 2015, the United Nations Climate Changes
Conference was held at —

2015 § HITH T TG UREd- THA FHat

BT ar?

(a) Paris/iR®

(b) Doha/areTl

(c) Montreal/dif~ede

(d Copenhagen/ﬁa'v!%ﬂ?r
Ans : (2) T 2015 T 9 & T IRE F gL A4y
e § 191 S0 & 99 o TeE F TE G aR 9RA
T o0 59 I Holl 2 & R1 W wwglar qoey § dfvas
T & aged & 2 ot Sfcwes ¥ 49w 9 ST 2
7T GIH T @l H d3H B 213 i T T

45. Which of the following is NOT a form of
Monosaccharide Sugar?

Freaferfiaa § & &9 Tk THRIAIES Ik 872
(a) Galactose/TToiaISt (b) Glucose/’?ﬁﬁﬁ
() Fructose/FIST (d) Maltose/mTeISt
Ans : (b) Wﬁ%,mﬁ%wﬁ%ﬁﬂﬁw
gRSISH d Ao 8id €1 3 fi JbR % g &-
(i) AFNRTEEE- ¥ WA FERESE B 81 3w e
Ay Hwg T @ 21 ¥ 9@ # feg @ )
IR - YIS, TS (TR I
(i) SNFATNERTZET— T 2 T 10 AHGHIZET & HI3A
T T §1 SH- Tbiel, AR, ARl S|
(iii) TeT@HTEET— T 10 T B 1000 a1 3TY 31Rfh
AERIEEE § ad €1 3 U # atfaerd g €1 S
T, Hgar, TaRheH, Hgfed |

Read the following information and answer the
question given below:

frifeRe ot @t v i e ol T el
IW T

A has 28 elements B has 32
A UB has 40 elements.

A% UTE 28 39U §, B & UME 32 ¥4 T

3T AUB & UTH 40 79T gl

How many elements does A "B have ?
ANB % UE fRaa 1w 37

@) 12 () 8
(c) 10 (d 20

Ans : (d) n(AUB)zn(A)+n(B)—n(AﬂB)
40=28+32-n(ANB)
n(ANB)=60-40
In(ANB)=20 7|

44.

elements and

46.

47. How many elements are present only in B?

FeeT B H fohaq de Sufkerda 82
(a) 28 (b) 18
() 12 (d) 10

(¢) n(AUB)=n(A)+n(B)-n(ANB)
40=28 +32 - n(ANB)

Ans :

n(ANB)=20

*ad B H @@ = n(B) - n(ANB)
=32-20
|35 B & see@ =12
UNITAR stands for —
UNITAR & femg—

(a) United Nations Institute for Transport and
Agriculture Research/TA8es -¥H SIS

HR U e T Rud
United Nations Initiative for  Total
Agricultural Readiness/JT3eE ¥ gfefea
BR e Tieas EHY
United Nations Institute for Training and
Research/JAEee =99 $fege wR 2fHm
ws =
United Nations Initiative for Transport
Readiness/qT8es 9@ sfefea wit grgud
ESiort
Ans : (c¢) UNITAR (United Nations Institure for
Training and Research) ¥t T & T TH ot € <t
T T T AT F AR W FHH FA T AR
Tofes Ffee 3 & IO S I T g1 IR
HEATE & frramet Seft T aread 1 e o 21
49. Which State hosted the 12™ National Ice-
Skating Championship in India?
aRa ¥ 128 U few |wur fersrar T s g7
(a) Sikkim/f&fera
(b) Himachal Pradesh/fgwr=ret BEN)|
(¢) Uttarkhand/3qU@Us
(d) Jammu and Kashmir/S/¥ Td FHIIR

48.

(b)

(c)

(d)

12



Ans : (d) A ¥ 129 T few o fosir Tog Sy we
HYEL 21 3Ten 139 T BE wor SftweEie 2018
SHEd § g

50.

How much time does a Geostationary satellite
take to complete one orbit, at the height of
35790 km?

Tw J—fer 3umg 35790 Tt emd w =

eI o Ui URFHT UT fehe=T o orar &2

(a) 30 days (b) 24 hours

(c) 365 days (d) 12 hours
Ans : (b) 3R 5 FHW ST HF geat q T T FAE
& % U ufeheer @t i gedt % swim e &
RFHVT FA (24 HUS) F TR & @ 98 ITE YA &
TrUer el WM 39 THR & STE HI JeIdlicrd ST A
Tl STE Fed | Uh G-ReR IuHE B A el %
qul GREHHTT W 24 FUS N FHF A &

51. What will be the next set of alphabets in the
series? )
AUt § ST T ITAT THzad T &2
AZ, BY, CX,
(a) DU (b) DW
(c) DV (d) DY
AZ BY (X DwW
1426 2+25 3424 4+23
Ans : (b)

A

27 27 27 27

3T ST T DW 2|

Note- 3{Stt Ui § & 7Rl o s A9 & I 27
g I TR I H U TR b fAwa & g
0.55x4.5

0.81

T HIH T 82

52. What is the value of

0.55x4.5
0.81

55

18

55

81

(a) 3.555 (b)

(c) 3.05 ()

0.55x4.5
b) ———
®) 0.81
55

—=3.055
18

Ans :

53.  Simplify: (2x)’ -(2y)’ -(4x)°
(2x)* - (2y)? - (4x)* ST T TR
(a) —12x*+4y’ (b) 12x* -4y’
(c) —12x* -4y’ (d) 12x* +4y’
Ans: (c) (2x)° - (2y)’ - (4x)’

=4x" — 4y’ — 16x°

=_12x" — 4y’

AT —(12x” + 4y%)

54. Given below is a statement followed by some

conclusions. Decide which of the given
conclusions logically follow(s) from the given
statements.

Frr fdr T U e W R Fo e R
T ¢ frvem T i @ @i @ e fo
T Y % THET o ATAN &2
Statement/she: Fortune favors the brave/9 "
SR HERT AT B

Conclusions/f-TshH:

I : Risks are necessary for success/®8heTdl D
forg Sifam smervaes 21

II : Cowards die many times before their
death/&TERT & AT T | Ugel &g R J
et 2

(a) Either Conclusion I or II follows

forsspef 12 A 11 fregEr 21

Only Conclusion I follows

heret forepd 1 framgen 21

Only Conclusion II follows

heret forepe 11 e 2

Neither Conclusion I nor II follow

T fsed 19 11 fremgEn

Ans : (b) STUH HIF “9F 4 H GEW 3 8 *
IFIER A % fU Sifgw oA eravas 21 e St
Ak SEH o & 791 TR-aR 379 FRar e g1 9
I FI bl &M B 2

(b)

(©)

(d)

55. If Sinx =§, then Cosecx+Cotx=?

Ife Sinx=§ dol Cosecx+Cotx=

(a) 31/12
) 2

(b) 35/12
@ 12

Ans: (c) IfE sinx :éﬂacosx :g

3d: cosec X + cot X

1 COSX
+

sinx sinx

|cosecx+cotx =2|
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56. In which Indian State is the Nanda Devi peak

located?

aRa & fRE TS # A et ut seEe

feera 22

(a) Uttarakhand/3dU@Ue

(b) Arunachal Pradesh/3T&UTiel BEt)

(c) Himachal Pradesh/fRHr=ret LEN

(d) Sikkim/fafFrm
Ans : (a) 7 <4 T 3T AAQUS & =41 <41 o
R fgd @ F Ift NE TSR Fad 2| SEiES F U
SiCfTT & STeihal 1 TH geT 21 3t & § Il o
TR YA T B AR ICUEH & Fal 9 s-W
oY % e % HROT fovd S 2|
57.

Find the similarity among the following:

Frrefafaa & sfrer gurar §—

Makar Sankranti, Pongal, Lohri, Baisakhi

(a) All are festivals of North India/3T 9Rd B
Toff oo 21

All are names of harvest festivals/THt qaf &
TH HEA b FeT

All are festivals celebrated in the month of

January/ﬁqﬂﬁaﬂaﬂﬂ%ﬂﬁ%mmél
(d) There is no similarity at all/3T8 T HIE Tl
Ans : (b) TTE TGS TST H TR S aTel fRar
Fer (vd) 81 I9ME Aeiced &1 gRamm g dore T5F |
foFe dfal A FHA FE T & a8 AT o G
T ¢ e 39 @RR @ 9ed §9 ¥ a9d T e
e’ & Sfeaq & ®9 § 7914 2|

(b)

(c)

58. Whatis 15% of 34?

34 AT 15% T &2

(a) 5.1 (b)) 5

(©) 5.2 (d) 4.9
Ans: (a) 34 1 15% =19

100
205
100

59. A liquid drop, contracts because of the

attraction of its particles and occupies the
smallest possible area. This phenomenon is
known as —

Teh 39 i g WA Bidt § SRR gdoh UM
T IMHRHTT 3T TG FARS IAqH HIT §
W REEAT AT el ST

(a) Surface Tension/J% T

(b) Buoyancy/3Tf¥ed

(c) Cavitation/Tfeehra

(d) Viscosity/aTd

Ans : (a) 59 o 3T % U] TEGH I & BT A
Terdl S & EW S & @1 %9 S Sul g
T Bl 81 9 wieT g el S 81 54 @ e
GTE H SGh A And o] Srw R diud 8 g
FRUT 54 1 ST IS gHYN a1 H T @ qo1 399 %9
q FY gFhel T FH H FIR B 21 FT % IS H T8
T & g8 T FEeAr 2

60.

As envisaged in the Constitution of India with
respect to the 'Supreme Court (Number of
Judges) Amendment Act, 2008 (11 of 2009)',
there shall be a Supreme Court of India
consisting of a Chief Justice of India, and not
more than other judges.

S foR gfim @i (S Wt el §EAT) &
HErer Tt 2008 (11.2009 ) o W |
R & Higa o ufleheqar st W8 oft, =gt
URd o Teh e = g e ara
o e ~rEneiier ynfhe g S
=ranefter st W gt
(a) 40 (b) 10
(c) 20 (d) 30
Ans : (d) T F¢ (=mmede # gen) d9ee fauas
2008 H Fafed =ETCE % AR & §©A 25 9
TR 30 B & T F1 9 F TF e H DR

61.

If the signs '+' and '+' and the numbers '2' and
'4" are interchanged, which one of the following
four equations would be correct?

i farmg + 3K « @ 2 3fK 4 = fafme g
B & Frefafad o) el § @ B9 T
wE grm?

(@) 4+2+3=6
() 4+2+6=15

()]
(a) 4+2+3tnterchanged 5 4.3 2%

(b) 2+4+3=3
(d) 2+4:6=8

Ans :

Interchanged

(b) 2+4+3 4+2+3=5

(©) 4+2+6M>2+4+6:6+%:6%

(d) 2+4+6—nerchanged 4.5 1 6-24+6=8

62.

Which of the following countries launched the
World's most powerful GEO Spy Satellite — the
'Gaofen 4'?

frafafaa & @ «F o favg =1 wew
IFRIET GEOSPY SUWE 'GaoFend' &I
weTuT femam &2

(a) Russia/&H

(b) India/9Rd

(c) United States of America/Hgwh g 3R
(d) China/==

14



Ans : (d) 919 <31 fava 1 999 WREITe GEOSP SWiE
Gaofend H1 JUUT fhal o711 o7 SR A SIGE I
KH-11§ e 39d 30 2|

63.  With which IIT did the Indian Railways sign a
MoU in December 2015, for setting up Centers
for Centers for Railway Research?

W Ht g g & WeH | Y@ SIHU™
F=l o AU s T i % fau femmr
2015 W WRATT IeTd U¥ gEmer feram an?
(a) OT Madras/3Tg T8 &t 7519
(b) 1IT Mandi/3T aTE & #vel (feamer wawn)
(¢) 1IT Delhi/3mé 31§ &t faeedt
(d) 1IT Indore/3TE 3¢ & 3R
Ans : (a) ME3ME.J. A5H 7 9IRAT @d 5 99 TH
Fugidar T (THAY) W eERR 6 a8 wHgiar & &
F 8, TUF YT HS THSS Ghdl, IRAGT FF
Tohiieh Tofd AT 3R §uR o foq Sufd deieh der
el &t W e 7
64.

Which of the following is the religious text of
the Jews?

frfeiad § & SH—H1 Agdl a6 | SEie 82

(a) Dhammapada/g4aT

(b) Torah/arT

(¢) Guru Granth Sahib/T& %% Hifes

(d) Tripitaka/BfGes
Ans : (b) TR A g TE (%1)34?(?4@
T H AW TG 8 ST saE e § foran e 21 =9
Tems a1 ‘G ff Fad &1 fftes dg o ¥ geEfa 2
& Jimiq foa, fes, qu fes 7 afrem fes &
uf firerar & |
65.

India's Multi Application Solar Telescope
(MAST) was operationalized at the
Solar observatory.

ORA H o |’ YUITell Rl gk Ser9mel

gET feRaT or—

(a) Udiapur/3saqX

(b) Jaipur/SHIqT

(c) Kodaikanal/aier det

(d) Ahmedabad/3THaIETE
Ans : (a) TN S GOE 9 M, 95 ST HEAGEH
(MAST) & 4 37T 2015 i %ig TR fgd 37qR R
g # R T A & e 9Rd faed B g8 2w @
el 39 e # g 2, St g4 @ o TiafafE &
s o & 1 off 3TeEET B 2
66.

If in a certain language KINDLE is coded as
ELDNIK, how is FASHION coded in that
code?

gfs usw faf¥eor@ 9T KINDLE &1 &g &9
ELDNIK a1 FASHION 3§ &hig ¥ har &7

(a) NOISHAF (b) NIOHSAF
(c) IONHSAF (d) NOIHSAF

Ans : (d)
KINDLE——>ELDNI

=T

FASHION——>NOIH
N

r

>R

SAF
A

T
In December 2015, NASA's Curiosity Mars
rover found the presence of . which

will help scientists learn about the ancient wet
environment.

feamst 2015 § NASA & Siaferame sRarfaet

qJ WA Ug W aFAT=eRl 3 Weid @i &

ATATERUT T ST UdT TR 7

(a) Magnesium/ﬁ"ﬁﬁ'@?

(b) Cadmium/sfirm

(c) Silica/f&feter

(d) Calcium/fesam
Ans : (c) R ARy ‘ol AT % fARemEm
FRAMGE 7 7T T8 W A # wveR @ 2l
fafet 1 T2 F1 @A T<H A A & A e W
faferser & Sufafy & aefve # T F1A § T F
IATERTT & T 1 qar o # Hew e wehdl |
68.

67.

Who among the following was conferred the
2015 Sanctuary Legend Award?

frefafea & & fRaa w9 2015 &t I9aRTT
T 3TaTE T WA ST Wi fear om?

(a) Ashok Kumar/37T3T% HHR

(b) Varad Giri/a%@ fifk

(c) Anurag Kumar/3TIT HAX

(d) Viral Joshi/fewrer Sreft

Ans : (2) T 18 faaex 2015 9@ § W @ @ T
siffecifem # s wfafied et & @rer sfo=ifrr &
T S T 3% 3ed & HETe N e Il
FAR I THIRTY ofiSie e § FEAfad fRar e
2018 & gl aTEee @E® FAEH F dod ATHER
ofdg s@re dea-RmEr & faar mm

69.

In which of the following sports does Bombayla
Devi Laishram represent India?

AT et IR WRA & fohl@ @ @
T Tt B

(a) Archery/dRast
(¢) Cricket/fshe

(b) Boxing/@?‘rﬁ
(d) Badminton/aefiieT
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Ans : (a) ST S8 YR Th GRATE dREeT Afgel
flgerdt 81 & 2007 # 9 § FAURTT @ § wWelt ¢,
2016 HoAprefta fraftus # g4 9Ra &1 wfaffrE
feRar e

70.  If the product of two numbers is 3026 and their
LCM is 89, then their HCF is:
Tfg & Gl @ TUETE 3026 AR ST
FOWOT0 89 & AT ITHT HOWOUO T
(a) 33 (b) 34
() 35 (d 29
Ans: (b) ¥ g,
q FEAst 1 R = HOHOTOXAOTOT0
{09090 = 3026
89
[0H0U0 = 34
71.  Choose the odd one from the following:
freifera @ & Te foom gi-u—
(a) ELEPHANT/&Tedt
(b) EAGLE/T®T
(c) LEOPARD/dg3T
(d) BAT/=HTSS

Ans : (b) T, TgaN R TEEE W Soft § eeq)
F ueff s=d 30 §1 el TEU US ;@M B I TEU
= ¥ i (fawm) 21

72.  Mr. Rajesh buys a toy for Rs. 27.50 and sells it
for Rs. 28.60. Find the gain percentage.

0 YT W0 27.50 F UH Raer @lhEar §
3 T W0 28.60 % oW Srerar & @ wiewa
T
(a) 5%
) 6%

(b) 4%

@ 3%

fa0g0-s0790 <100

070

_28.60-27.50 “
27.50

:1.10><100: — 4%
27.50 27.5

What will be the next set of numbers in the
series?

Ut § HEATAT ST ST AITa™ FIT EA?
@2 3, G 5 G 7 (7 11, (11,

Ans : (b) <MM% =(

100

110

73.

13),

@) (13,15) (b) (15,17)

© (13,17) @) (13,19)
Ans : (c) TSI HEAT 1 F=I Fread 2|
(2,3), (3,5), (5,7), (7,11), (11,13), (13,17)
37d; ol 1 STl gY==d (13, 17) R

74.  Abhinav Bharat Society of revolutionaries was

organized by -

AN IR TAS &l TAUAT feREer gRT Y

g oft?

(a) Jawaharlal Nehru/SameR AT 48&

(b) Vinayak Savarkar/fqraIe HaweH

(c) Mahatma Gandhi/"gTeT et

(d) Bhagat Singh/sTa f¥ig
Ans : (b) 3T 9RT TS H WY fGEH TEIR
a7 1904 H & off 39 den & ey R ¥
ded & oI s T ATl ¥ 1952 H WERER | 39
g o W fqafsia & fean s Fe o1 5 @
TT 1 T I & T O TqH FE oewd Tl 2
AR A EE J o ot dee/ et i W
Tt g A TR 4w 29 e fordt i

75. Rearranging the letters "AKBLU", we get the
capitalof
(a) Afghanistan/3THTEE (b) China/==
(c) Bahrain/agd= (d) Algeria/3TesHar
Ans : (a) FEA (KABUL) 3THMRAE 1 T 21
TR FARYT HF FEA M A T AT @
T S AT 3R areehifiar @ srestiad 7
76. Hema takes a total of 9 hours 55 min to walk a

certain distance and then cycling back to the
same place from where she had started. She
could walk both ways in 12 hours 30 min. The
time she will take to cycle both ways is:

& T Traa gl o ege W H 9 HueT 55
i o1 T ot & S ae {UE T @t 3T
RS & aTud EIet § el ¥ SHA I gy
@i oftl ag 9 afient @ 12 wue 30 fime ©
YHIT & Tehelt §1 T8 ST iiehl | HTSieheT i
T 3H FHeT GHA T

(a) 7 hour 20 min (b) 7 hour 15 min
(¢) 7 hour 35 min (d) 7 hour 45 min

Ans : (a)ﬁmammmﬁﬁﬁaﬁafrwaﬁaaﬁ
H o 9WI = 9 Her 55

T Uae T F T W A Fo §9F = 12 He1 30
. Had U oW H o 99 = 6 wer 15 f

3T: WEfh ¥ M 9 3 § @ WHT = (9.55-6.15)x
2=7 %1 20 .

77.

Type of a file a computer can be identified by
the .

Tl e wTge ereu &, e e e @
UE & Hehdll 87

(a) Folder name/®gcl I

(b) File size/®Iscl HIgsl

(c) File path/%rget &N

(d) File Extension/®Ed TFEe I
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Ans : (d) BEA TFRYE I BEA AW TFHIH TH
HIEA & ATH G 8, S ST faed ¥ wEd TR
H TEEH A H FEEAl Al Bl S F wEshiEe
fouet & wEd AW THERYH TS a7

78.

The Ajanta Cave Painting are a testimony to
the golden age of in India.
(a) Buddhism/aTg &
(b) Shaivism/¥1a &
(c) Jainism/S9 e
(d) Vaishnavism/dwra &
Ans : (a) 3 TGN & ACTETE e § Req 21 7t
W FA 29 THS F FEi fhr w21 Tw o 16
T fOR W IVEEN FR P WA BT & SER
W g & 9 T= ST H Fr fafy w21 5w e §
oMY SR TEE g5 S ¥ @ o off sifed 2
S Y THE T S gH § Hed §
79. What does GUI stand for with respect to a
computer?
Tsh ®FeY & @& B GUI €S & fag o=
AT 872
(a) Group User Interface/Jq IR $THH
(b) Graphic Utility Interaction
Tk IUATT FUTHY
Graphical User Interfce/IMtheh IR TUETHY
Graphical Utility Interface
TR ITATTT STThY
ns : (c) Toh HAI % T # GUI (Graphical User
Interface) T ST 3R 3TA &dl F o= I
T TG & @ gfh fSEH STarTedl eTseE adr
%%@mm%mmwﬁmaﬂﬁmﬁ%ﬂé
Hehdl = |

(©)
(d)

80. All rational numbers are numbers.
Teft ufos o= ... e -
(a) integer/quTieh (b) whole/gut
(c) irrational/3T9R™T  (d) real/arfas®

Ans: (d) T+t 9RET et arsfess Sead gt @t

aoft aTfas St ot e A A #) O arafas
ﬁp/q%@ﬁ@ﬁpaﬁ(q{“ﬁw%@qim

I it Uil g uRET Ge @i @ o weft
aftia T quiiss TE & gt 71
81. If a Panchyat is dissolved, elections are to be
held within —
IR U T & A AT B —
(a) Six months from the date of dissolution

T 7T ¥ 6 W8 & I

Tweleve months from the date of dissolution
TIfid THg T 12 A% F I

Two months from the date of dissolution
i 7T ¥ 2 98 & 3

One month from the date of dissolution
T 999 ¥ 1 W18 & TR

(b)
(©)
(d)

Ans : (a) 99 H FAE TF fafem s g e
ST 81 3T=SR 40 ¥ WAl & TS yauE e m
21 T GEEd F g & forw ang 21 o fwifa &
21 FoE T Wed dfifa g Pl demd & omed
fepar T

82.

Who discovered Electron?

TR st @ ferae ferarm ?

(a) Niels Bohr/deg &R

(b) 1.J. Thomosn/SI0SI0 &THa

(c) Albert Einstein/3Td@d 3MEEH

(d) Ernest Rutherford/31& &hE

Ans : (b) TR I TN F 9T A0S0 FTHGT HI ST
21 Soleid WS TGl U7 R 57 9.1 x 107 kg @
519 T gHE FOE 1.6 x 107° HeIH el B

83.

In which coast was the World's largest Marine

Protected Area (MPA) created in October
2016?

A W g W wed wer Wl e &

ol F9 3TasR 2016 | AT 4T o2

(a) Treland/3TAITS  (b) Italy/zeelt

(¢) Antarctica/37Eies (d) Scotland/EHEeTS
Ans : (c) 3iEHH ST &1 Gad ST IR T &
o1, 8 TR 2016 H AT T A1, STk T
S Sl & GO AN SR AR A W
FIfiesh SIvoT S SEN H 24 39, US.A. 3R 0§
e 71 A8 1.9 ffere avf fiat § 8, siesfess § U
fopet % Her woel, g UEA SR Ba onfy wnfhe F
fardor (wH. 84-86)

Study the information given below and answer

the question that follow :-

e fer T GoAT T SeEE g ST W
AR Y1 o IR LT

Six friends Anil, Bharath, Ram, Dhilip, Karthi
and Vijay are seated in a circle facing each

other/®: Tirsr 3tforer, wea, W, foefia, wwifd i)
Tererar Uieh Uk O & WA Uk g9 0 oS §
Anil is between Dhilip & Bharath and Vijay is
between Ram and Karthi/3Te e 4R faefia
o sfter & aen fastar T iR =il o offer %
Ram is third to the left of Bharath/TTq Y &

T | A W R

Which of the following is the position of Anil in

(@

(i)

(iii)

84.
relation to Vijay?
frafafea & & fowg & deg o sif@ =t
-t ferfey 87

17



(a)
(b)
(c)
(d)

Second to the right/a& & &
Third to the right/3d & T
Second to the left/aa & &
First to the left/ad & Tgan

Ans : (b)

o T § a9 9 oA Rufq d fasg & d@eg 7 afte
R W R

85. Who is between Vijay and Dhilip?
feefia 3 fasrar & sfter = 872
(a) Anil/3faa (b) Bharath/s%d
(¢) Karthi/®fd (d) Ram/T¥
Ans : (d)

X ¢
= L

3q: 3T § fas 3k el & &g 1w 21

87. There are total 200 students in a school, of

th
which s are boys. Find the number of girls in

the school.
Uk Whe W 200 ferameff & o % g &
wFe | ergfeRdl s de ¥
(a) 160 (b) 16
(c) 140 (d) 40
Ans : (a) T S § Fa fommdf =200

9 el & g =¥=40?@ﬁ3

9 iRl dt H T = 200 — 40

= 160 TTgfHat
Which of the following is a device to protect
electrical from voltage spikes?

frrafafaa & @ & SueT favg @e 9 T

fergga SuRToT it TEAT TR Eielt 272

(a) Voltage unloader/aeS IR

(b) Surge protecto/Jf5 HL&TH

(c) Heat protector/3T H&THh

(d) Current unloader/9TI T&H
Ans : (b) FFE SusToT # qrem F foTU sEe uRug IR
T 90 YA & 99 TH fava Ha (FS) ST S
21 S ik faWa (Voltage) 3fg 89 w uRug # @
fawa i (W) faga & Sar @1 R/ aRue (Circuit)
ZZ S 2 3R foegd om @ yaR ® S 8 R T
TRTY FHET GReT @ 2
89.

88.

Two cars start from a house at an interval of 10

minutes and travel at a speed of 20 km/hr.
With how much speed (km/hr.) should a
woman coming from the opposite direction
towards the house travel, to meet the cars at an
interval of 8 minutes?

N HR TH & WA 10 fiFe & e W 20

86. Who is between Bharath and Vijay? feptht /oieT ST O | AT UREST I 1 fRay
W AT forerar o sfter s 872 TR < T ek AleeT S W i fewm &
(2) Karthi/@ (b) Dhilip/fea ‘(”T;"ﬁs% afy 8 fime & 3‘(::)""*'6‘} 38w e
() Anil/3faa (d) Ram/AH (2) 7 (d) 4
Ans: (a) Ans : (a) I Afge &1 T x /T 9O W 9 aflgen
Ft ol /ol & o « T W Al B veeh FR R @
- aa—
‘ xXt+20t=1........ (1)
3R (t+ijx+(t+wjx=!€
! 60 60
“ xt+8—x+20t—M=xt+20t
*x . 60
60 60
;ST ¥ W IR oo & i i g = 5 fepe HeT
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90. Which of the following is the Mascot of Indian

Railways?

frafafaa § 9 SF aRa & Jsie g 87

(a) Morris, the cat/AIRE Fe

(b) Murugan, the peacock/T= fiie

(¢) Nandi, the bull/F=} set

(d) Bholu, the elephant/9ie] Tefithe
Ans : (d) ¥ IR T 1 TH @ TS o 8
‘o] el S 21 FE Tl fre ww gt B @ S s
27 ME & TE T H g frar @ gan aered de
g @ 2
91.

Two numbers are in the ratio 3:5 and their
HCEF is 20. Their LCM is :
o GEIRl @ SguTd 3:5 3R Wo™Wouo 20 ¥
IAEHT FO|OT0 §—
(a) 30 (b) 300
(c) 60 (d 10
Ans : (b) & FE&ET F UM 3:5 & 7@
g @A =3 x H.C.F. =3 x 20 =60
ol §@& = 5 x H.C.F. = 5 x 20 = 100
3 Ygell HeA x g8l §&d = H.C.F. x L.C.M.
60x 100 =20 x L.C.M.

60x100

20

LCM.=300

In a food chain, what is the difference between

LCM.=

92.
primary consumers and secondary consumers?
I SEer § yrefies SuWihr 3R urenfies
SUHITHT o sl 31T oI 87

(a) Primary consumers eat plants and other
consumers; secondary consumers eat plants

and decomposed matter/STdHb IU9RE g
@M 7, 3R 3= IUHIH, AreAfe Sudh oY
3 feEfed ward @ 2|

Primary consumers eat only plants;
secondary consumers eat primary

consumers/SfHeh ITAH Had UE @A B,
At IYHh MY STARHS B @ & |

Primary  consumers eat plants and
decomposed matter, secondary consumers eat
plants and other consumers/S4He ERE I

q8 iR fomfeq ward @ § meafrw usE
98 3R 371 IUHIH HI @ &

Primary consumers eat other consumers;
secondary consumers eat only plants/JTIftes

IYAI 1 IUARHIS S @i 8, Hreatis
IUNIH At Ui @ B

(b)

(©)

(d)

Ans : (a) T e § qafies SUURET S AT
IUHIH % o9 3R & fh Tl Sudn O @ § ek
3= 3qHTH AeAfi Susihl 99 sii fEfed werd @ §
fomeTe S ged % Wed W @ WS & & e
FFRAN 7 faees gfhar # ast o § S 9 g
e dcdl & &7 H A0 & U @i A9 S @E

g § AT g H 2 |

93. If in a certain language A is coded as 1, B is

coded as 2, C is coded as 3, and so on, how is
BIDDIC coded in that language?

Tfe Teh fa9T oo § A HTRE 1 ¥ B & &S
2% C &1 &S 3 € 3R 3¢t o 3w @ 39

oTeT # BIDDIC T TS SRl &7
(a) 284483 (b) 294483
(c) 294439 (d) 294493
Ans: (d)
BIDDIC
WIldl
294493
94. Arrange the given English words in

alphabetical order and choose the one that
comes first.

T T SiUsh vredi oY FUTTIERT B Saerd Wi
3 ST A ITAT § SHRT =TT A

(a) Accumulate (b) Actuate

(c) Account (d) Achieve

Ans (c) IUITHT & SER ST vl @1 el wm -

= Account
= Accumulate
= Achieve
= Actuate

95. Which of the following is the first country to

become Carbon-Negative?

fafafaa & @ @9 yaw @ At
SeeSieh Q9T &7

(a) Canada/&-TET

(b) Poland/drcivs

(c) Bhutan/9H
(d) United States of America/Hgth Tsd STHREH

Ans : (C)WWWE@W@TQWW
FTe I § AR IR A N Reerd 40 sfreE 21
e IS § el B & g 2 fawm it agad
TR Tl T & |

96. Who among the following is the current CEO

of NITT Aayog?
frafafiga & 9 &9 adae # Hifq mEmr &
& eIt AfTeTt &7
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Amitabh Kant/3THed1e sl
Arvind Subramanian/3Tfe< geHTIH

(c) Arvind Panagariya/3fe== qwfgan

(d) Sindhushree Khullar/fa=gi geer
Ans : (a) 3TEUTH (IAS) AHATT &= o Hf =T FH
Higat Fre foan ar @ I A s A e fary
ot geor F wE fon &1 Ay e & swemy TS|
TR 7 R wEAr &1 e forn &1 Ay s w5
TeART T B 2
97. 1In 2015, which of the following banks was the

first bank to tie up with Indian Railways to sell
rail tickets through their website?

(a)
(b)

ICICI Bank/3TEHsTEdiaTE 5
State Bank of India/dd €2 %
(c) Punjab National bank/dST I S
(d) HDFC Bank/TaSiuwdt &
Ans: (2) @ 2015 # sEdiemEdiane s IRA H Tt
d% 8 R e % Wiy Tesve W A fIee
St foran @ ol &9 o 5oy o2 % 3 g 6 8 % o
Seg & S HiEgd dfhT TelhyE R fivs fefew
aele | I feawmel & gfaen e Hm|
R TATYAT S
aTEdieTEHieTE 1994
IAg €T dF 1955
U A 6 1894
TEEUES g6 1994
98. What will be the next set of alphabets in the
series?
Suft & Uil T ST WY AT T2
PBA, QCB, RDC, SED,
(a) TFD (b) TFE
(¢) TGE (d) RST

(b) 3R el A fIad 71
S— 5T
E—"'5|F
D—'S|E

P—5> Q—— R—>
B +1 C +1 D +1
A +1 B +1 C +1

Mr. Mike borrowed Rs. 8500 at 4% per annum
compound interest. The compound interest
compounded annually for 2 years is :

firo wmEeR wfer o 4% =reRglg T W 8500%0
3uR foram wehgfeg s 2 ad & fow anffer
| B

(a) Rs.9139.6
(¢) Rs.9193.6

(a)
(b)

Ans :

99.

(b) Rs.639.6
(d) Rs.693.6

Ans : (d) Tshafe =N = fHged — qaed

4V
=8500{ 1+——| —8500
100

25x25
676 — 625)
625

- 8500(M_1j

= 8500(

~ 8500x51
625

|ssafs = = 693.6%0|

100. Which of the following e-commerce majors has
signed an agreement with NIESBUD (Natioanl
Institute for Entrepreneurship and Small
Business Development) for encouraging SMEs
(Small and Medium Enterprises) to grow
profitably online?

fafafga @ @ -=muR & & fau

NIESBUD % 1Y fohil Suft W@ = ietig=

TN FHAM U FEer ferar 87

(a) Amazon/“\'aﬁﬁ'rf (b) F1ipkart/ﬁl?’l'clﬁh"l'dc

(c) Snapdeal/=u€t@  (d) eBay/3a
Ans : (a) 3THSF T&F &9 § B FREMNRAT 1 A
A F@H W B hsd SN 36 T g-HmE
FOA A TEA LR B TATERRY TS WA
foree Saeiadie & 919 U GHgiar 6 8 gHEi % dad
THUETETE 3R NIESBUD fireiet THU®E &I iR
3T W FHH HT|

101. Which of the
atmosphere
possible?
frafefiaa ® & argaves & forg wa & e
T TR GO BT &2
(a) Troposphere/&HIS
(b) Thermosphere/drdia AUSH
(c) Ionosphere/3TdT HUS T
(d) Stratosphere/HHdT HUS

Ans : (c) (e 1 HIR TgATEA & 3T AUSA WA

e B ¢ i 3T "USH 3 STl Ul |

forerert o BT @ R T Jebrer Yohd 1 QX e

g 21 e e Sohd a1 Al WAl B G T b

et gRT FaRoT fopar ST R

102. The surface area (in sq.cm.) of a sphere with

following
makes

layers of the
Radio Communication

22
radius 1 cm is: (taken = 7)

1 9t Breum & et &1 It &sher (9 1)
%I(taken=¥)

20



(a) 89/7 (b) 89/21
(c) 88/21 (d) 88/7
Ans: (d) e H g FIBA = 4mr’
= 4><£><(lcm)2
7
M BT JST &The :%
103. Divide Rs. 210 in the ratio 2:3:4:5. The
respective amounts are:
B0 210 Y 2:3:4:5 TFuTa ferarie femarm T 1
TH% TTUST " §—
(a) 30,45,65and 70 (b) 30,45, 60 and 75
(¢) 35,40,60and 75 (d) 30,40, 60 and 80
Ans : (b) HFT %0 210 & 2x, 3x, 4x 3N 5x 9O #
[EEISGRERIRICIKE
2x +3x +4x +5x =210
14x =210
x=15
T 2:3:4:5 F HIUET 30, 45, 60 3T 75 %0 B

104. Given below is a statement followed by some
conclusions. Decide which of the given
conclusions logically follow(s) from the given
statements.

& T U wuT % AR Fo frewet fo
f& &) @ ™ FuA & gER wA-¥ & ™
Torems dehdTTa 21
Statement/h e :

Good voice is a natural gift, but one has to keep
practicing to improve and excel in the field of
music/AER AT Fehie T Teh SUER g W
fereht =0t ifta o & H GUR 3i Septedr o
o TOTT 3T ST U §
Conclusions/f-TeRd :

I: Natural gifts need
care SUgX &
JMETAHAT BT &

II: By continuous practice, one can get a
natural gift/qqd 3TATM & FWI, Uk AH
WTehfeeh SUZR hl WIt T Hehell 21

(a) Either Conclusion I or II follows

a1 d fased 12 11 e 2

Neither Conclusion I nor II follow

T forsed 19 11 FrmmgEn 21

Only Conclusion I follows

heret Fereshd 1 FAER @

Only Conclusion II follows

heret forepe 11 R 21
Ans : (c) TEX AT ST B Th SULR & (b (o1 bl
Hifid &% &7 ¥ gUR 3R IFea a- & AU o &
AEvTRAr Bt 21 el -1 SWe FUE &
foremTER 21

nurturing and

(b)
(c)
(d)

105. What will be the next number in the series?
U | ST T F Tt ?
2,4,12, 48, 240,
(a) 440
(c) 1200
d2=2x1
4=2x2
12=4x3
48 =12 x4
240=48 x5
240 x 6 = 1440
A shopkeeper cheats to the extent of 10% while
buying and selling fruits, by using tampered
weights. His total gain, in percentage, is:
T HRFEER 10% Tt AT ST JAIT LT B
Tefeh Tl shl TlEd 9T doid W ToTd a1e

(b) 480
(d) 1440

Ans :

106.

ST JENT ST § SUHT Hel AT Wferore §—
(a) 21 (b) 24
) 22 d 23
Ans : (a) THAGR T 5% A = 10+10+1 010
~21%
107. Thick : Thin : : Idle :
(a) Inactivity (b) Virtuous

(c) Industrious (d) Business
Ans : (c) Thick (W12T) , Thin (3eeT) 1 o™ veg 21
SH YR, Industrious (IR), Idle (e 1 ey
TS 2
108. If ENTRY is coded as 98462 and STEADY is

coded as 749312, then how is NEATNESS
written in that code?

gfe ENTRY T IS 98462 T 3 STEADY
HT RIS 749312 T NEATNESS 3t s &
HET EATT?

(a) 89648977
(c) 89348977

Ans : (c) IRAMHR,
EN

(b) 89349877
(d) 89438977

98462
N A

L

—

>
>
Ne)
(V8]
,D—‘

—> o

STE1|%]|D§|(

NEATNESS
I
89348977
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109. As per the Horticulture report 2015, which

State in India is the largest producer of Mngo,
in terms of absolute production value?

srsft o Wt SmTart RME 2015 ® @A
TRAT TS § 37 o Sedre | YUl Ieurgehel
T g 7
(a) Andhra Pradesh/3T= ¥a31
(b) Telangana/‘;l?l"‘TFlT
(c) Uttar Pradesh/3tX BEN|
(d) Kamataka/&1ee
Ans : (c) 2015 ST RO # 3w R o e W
3090 H FAREE (AGS) 9 e # 999 2|

110. Which team won the 2015 Pro Wrestling
League title?

T €W &1 2015 T HEGH €@ i IUT &

it &7

(a) Punjab Royals/4STa Jaet

(b) Haryana Hammers/gRamom )

(c) Bengaluru Yodhas/a""l?j:{R RIEA

(d) Mumbai Garuda/THE T&E
Ans : (d) 9 TES & TEAaE 4 W @A AT F
TR ge ST &St R g F gRamn a9 9 4-3 §
FT| e e fSeet & Het g wfead § gam
111.

As per the Constitution of India, who is
authorized to transfer the Judge of one High
Court to another?

O Gfeae & AR 3TE AEed &
TETERYT ST TATHTA0T S T SRR g—

(a) The Chief Justice of India/9Rd T H&A
RIEIEIN

The Prime Minister of India/9Rd T JEHAT
The President of India/Hd I Tl

Any of the Judges of the Supreme
Court/3=IdH =TT HT Hig Ff ey

Ans : (a)wmﬁmﬁmquﬁﬁwél g
&9 § srlafers gegut wihal 3 § FfRa g €1 TR
1 &S T TS BT @ S HEORYe & wer
¥ 29 B A BT TR 124 % Sl a1 T 2
ff 9RG H e AACE M RHE T W T
Y 8 g e ¥ feeR s 8 S=
AT % AT F1 TE gated =rRed & I8
i % g A S 2

(b)
(c)
(d)

112. A question and two statements labeled (I), (IT)

are given. You have to decide which
statement(s) is/are sufficient to answer the
question.

T U9 3R 2 (1), (1) ek wew o T
MURt TE fgea & § fF we—ar wee
W9 % IR % g et &8

What is Guna's age?

AT A IH AT 7?2

I. Guna, Vinay and Keshav are all of the same

age/TT, o iR hvrar weft =t 59w €

II. Sum of ages of Vinay, Keshav and Arjun is
32; also Arjun is as old as Vinay and Keshav

together/foma, F9Tar iR 3@? @t I @ AN
32 & qen 3t fome ofiR Shvta | & R

(a) Statement II alone is sufficient

Fshell e 1 T B |

Both the statements together are needed

2 el H QOIS & |

Either I or II alone are sufficient

1 A0 Sehe B9 11 11 9@ 2

Statement I alone is sufficient

3Fshell o | v 2

Ans : (b) 39 & W 4 & AT IHT FUAT H AE-HG
SAITIH 2 |

(b)

(©)

(d)

113. Shirt : Garment : : Potato :
e T JATCT ¢ ceveeeeenenes
(a) Juice (b) Onion
(¢) Chilli (d) Vegetable

Ans : (d) 9 5oRr 3@ (W) 99 9 gEtud & s6@

TR 3] Feolt § Heafeed 2|

114. The mode of the data 12,1,10,1,9,3,4,9,7,9
182

RSt 12,1,10,1,9,3, 4,9, 7, 9 T TEAH 2
(a) 9 (b) 12
(©) 1 d 7

Ans : (a) 3HT 12, 1,10, 1,9, 3,4,9, 7,9 9 ot

IR Jo9 fye (3 §R) 81 oW fRd M enise &

TEAF 9 Tl

115. Choose the most apt option.
Fruits preserved in cold storage last longer,
because —
&t e -

il ohl o1l §HT deh 30 HUSK ® E¥a
TET ST & Htter —
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(a)

exposure to humidity is increased
T Y A @ A
more oxygen is available
SIS I 3A(Yh AET STAH HEAT
fruits are stored in a dark place
HaAl Hl 3R WM H TG
the rate of respiration of Fruits is decreased
el & TIH T HA BT
Ans : (d) % B T gUg 76 ¥ e § TR w@r S
2, i Bl H TEET & B B Ol 81 FERT dR W
9 T GEEeEl #1 gfE R H BT B & Py i
3R g SRkt & & % & S 2|
116. Who was the Govemor-General of India during
the Sepoy Mutiny of Indian freedom struggle?
TohH TTEY e o AT ARA ot Tl See
et fersig gam ar?
(a) Lord Ellenborough/?il'vli%p At
(b) Lord Hardinge/?il'vliﬁ»n Il
(¢) Lord Bentick/de dféeh
(d) Lord Canning/?ﬁ@t i
Ans : (d) TR SRS @E ST F IHT FA § 1857
20 1 s fosie o ¥ 10 7€ (FoaR) & fa iy gan
aq e FET & uEEw@ § AN A fam s
(1845-4630) 3T =

117. India hosted the 8" BRICS Summit during its
Chairmanship which took place on 15-16
October 2016 in

aRa ¥ gai foerm RreR ade & = sHaht

JTETETAT ThE T 13—16 TSN 2016 W g7

(a) Goa/Tar (b) Bangalore/&@ﬂ?

(c) New Delhi/ faelt (d) Mumbai/T=s
Ans : (a) foog I F1 saT RER gWeR 13 16
F, 2016 & dF AT (VRA) H HOA gl 39
FHEE F g a9 - CIAEET THEE 9 s
ToEE e AT 9Ra 3 ST fyed eemer &
A et gftesioT SToEET

118. Below are given statements followed by some

(b)

(©)

(d)

conclusions. You have to take the given
statements to be even if they seem to be at
variance with the commonly known facts and
then decide which of the given conclusions
logically follow(s) from the given statements.

e wuel & ogER o frewnt @ fean
21 Tt fodr T wUHl w W HEAT AR
9 ATHTIE: AT B9 U 92 o 91 e
wefta 2 3 fr g ferem wiT fw e &
freref § ®A—|T dRETd AR W Seeiiad
HIT -

Statements/ch

All poets are readers. No reader is wise/@ft
i UTSH &1 HIE TS Fhegur TEH T
Conclusions/f-Terd :

I: No poet is wise/ah3 el FfagHT TET

II : All readers are poetsf{:r‘rﬁ TSk il Bl

(a) Only conclusion II follows

heret forepe 11 e 21

Only conclusion I follows

herel forpe—1 FmEr 2
Neither conclusion I nor II follows
T fsed 19 11 FremER 2|

Both conclusions I and II follow

A1 forsshd 13 11 framgEr 21

b)
BIEE]
&

i v
(>ii) x
119. In a class test, a student scored 22 marks out of

25 marks out of 25 marks. The student's
marks, in percentage, is :

ek el Uikerur ¥ ek ferameff = 25 oie o & 22
3ies arfsta ferm ferameff & afeRl st wfeera 2

(b)

(©)

(d)

Ans: (

forpe:

(a) 88 (b) 80
() 90 (d 75
Ans : (a) Franfiei & it &1 wfaem :i—ixlOO
=22x4
=88%
120. Dharun has a brother Anand. Dharun is the

son of Kumar. Krishnan is Kumar's father.
How is Anand related to Krishnan?

ERRUT ST Ueh WTE 3T B U0 HHR &1 I
B PO FAR & far 1 s FwE ¥ FY
Tt g7

(a) Grandfather/S&  (b) Father/fUar

(c) Grandson/ggF (Urd)(d) Son/TH

(c)

=i

@ § W 2 6 A= $UE F P (U) B

Ans :
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